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PART : PHYSICS

1.
R=10¢ }=10em
-t A—p
40 em
M = Zkg M = 2kg
Moment of inertia of system of two solid spheres connecied by light rod aboul given axis is
n = 107 kg m?, then n will be :
(1) 180 {2y 1786 (3] 166 i4) 156
Ans.  (2)
Sol. 1-22mR +md |
L5 1
d =20 cm =2H
J—gfng{'“ +4mPF | = -‘Hh-'pFi'_- 176 » 108 kg.m?
|5 1 5
2,
xI .
When dielectric is filled upto x = d/3 capacitance is C; = 2uF and when dielectric is filled up to x = 2d/3
capacitance is Cz then Cz will be :
(1) 12 uF 2y 9 uF (3] 6 uF {4) 3 uF
Ans. (4)
EA__nA A 120A 4cA
M Y=g S gy 9= A
%3 12 B 12
£, A 0 Y - o LU« o T
2d d 2d+d ﬁ[1+2] 3d d
3k 3 12 3 6
€, _43.0C_4 2, 3.
C, 2/t € 2x3 3 2
Ca='3uF
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3.

Ans.

Ans.

Sol.

Ans.

Ans.

Sol.

In an Electromagnetic wave E = Epsin{mt — k), B = Bsin{et — kx). The ratio of average energy density
of electric field and average energy density of magnetic field will be

(121 {2y 11 (3) 172 (d) 41

(2)

The angle of incidence of a ray in a medium is 45° and angle of refraction in the second medium is 30°
lat iz, Fr and bz, fz be the wavelength & frequency in the two media.

(=2 %ai=le (@ de=A2 it =t (3=l hi=nPl (4 =lsfa= V2 Hh

(1)

M1sind5® = nzsin30°

G 1 B | "

e e e N s
Vi W2 M 2 g :

I the height of transmitting Antenna on the earth suriace is increase by 21%, by whal percentage will the
rarige of the signals on the surface increase @

(1) 42% (2) 40% (3) 20% (4) 10%
4 .
d= y2RH
d' = J2Rx1.21H
979, 100 - 10%
Find the radius of electrons in 5 orbit of Li** : :
(1) 3.3A (2) 7.8A (3) 4.4A (4) 5.7A
(2)

2 2
=L a =2 «53x10"'m ~4.4A

z 3

A wire is extended by 20% and area of cross-section is reduce by 4%. Find the percentage change in
resistance of wire
1) 25% (2) 30% {3) 40% (4) 20%
1
{Sdppuse initial length of wire = |
cross area seclional = A
And resistivity of material = p

Initial resistance R = p = (/A

Now Resistance of change R' = — 1-0.20)
A[1-0.04]

R'=1.2% PE =1.25R % change iFiH » 100 =25%
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a.

Ans.

Sol.

Ans.

10.

Ans.

Find the type of logic gate

ﬂl B

N @)

{ —

(1) NOR {2) AND (3) NAND {4) OR
(4)
oR

A E Qutpul

1 1 1

1 0 1

0 1 1

0 0 0

Which of the transitions will give maximum wavelength of emitted photon :

4
A
' 3
5 l“ D
v 2
. 1
(1) A 2B 3 (4) D

(1)

=solid conductor of radius a carrying unifiormly distributed current. Select the correct option about magnetic
field B at radial distancer.

(1yifr<a Bxrifr=a B« 1/

(2lifrca, Bxrifr=a B~xr

(3) B'is uniformiy distributed forr<a and forr>a, B« 1/r
(4)ifr< a Bis proportiocnal torand for > a, B« 1r

(4)
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Sol. Forr=a
B - u--.IE.
ora®
L Ber
forr=a
g ol
anr
1

< B -
I

oL

p==0
Time period of oscillations of this system is

(1) T = 2nf—2 @) T=2nf D) g7 o KK T gl K
K. +k, kK. n’ﬂ m (K, +k.)m
(1)

12. Kinetic energy of electron. prolon and a—particle is given as 4K, K and 2K respectively. Correct order of
de—Broglie wavelength i., L, 4« for electron, proton and o— particle respectively is:

11.

Ans.

(1) Ae>da=ip (Fj e =bp=2s (e hp> 2 (4) o> kp> Ra
Ans. (3)
; h . h L h Ao
Sol. he = e 1 lpEm———— Cha ] la= =
J/2m_4K J2m K J2am K 22
13. Potential and radial distance graph for uniformly charged spherical shell will be :

v

%

L
-

{1 r {2

Y

v
=

(3) {4)
Ans. (2)




14.

Sal.

15.

Ans.

16.

Ans.

17.

Ans.

A block of mass 100 gram attached to spring rotating with angular velocity 5 radss in horizonial plane
radius of circular path of biock is 20mm and spring constant is k = 7.5 N/m then tension in spring will be:
(1)0.01 N (2) 005N (3) 1N (425N
T = morr

= 0.1(5(20 = 10)

=50« 10

=0.05N

EMF will induced if

(a) Cail moves in uniform magnetic field with constant velocity

(b) Coil moves in non-uniform magnetic field with constant velocity

jc) Coil rofating In uniform magnetic field

(d} Area of coil increase in uniform magnetic field

then which of following is correct :

(1)a&b (2lh&e (3)c&d 4)b&d

(4)

Assertion (A) : There is atmosphere on the surface of earth and no atmosphere on the surface of moon.
Reason (R) : Escape velocity from the surface of earth is more than escape velocity from the surface of
moon. Gases get escape out from moon due to its escape speed load than root mean square velocity at

the moan.

{1) Both A and R are correct but R is not the correct explanation of A
(2] A is correct but B is not correct

(3] A is not correct bul B is correct

{4) Both A and R are correct and R is the correct explanation of A

(1)

A planel has mass twice of that of earth bul same density as thal of earth. Weight of an object placed
on earth is "W then what will be the weight of the same object on this planet

(W w2 (2] W = 242 (3] W = 2715 (4) W « 250
(3)
Weight We= mg = oM
R
G EBass
-'LTHEg dn S
3 g "
1
H:! - HE! 23
e
Ratio of weight = Mo M e
wp Mp (R.

ﬂ_ﬂ_xigm]azﬂ 5!
W 2M W



18. In a process Rate at which work done by gas is 100's and rate of heat supply to gas is 30J/s. Determing
the rate at which internal energy of gas is increasing (in J/s)

(1) 20 {2y 30 (3) 40 (4) 60
Ans. (1)
Sol.  First law of thermodynamic
Q=AU +W
; du
0 == W
ot
30 = 244 10
dt
e
dt
19. Select tha correct graph which give variation of resistivity of semiconductor with increase in temperalure.
F 3 r. F 3 r.
T T
(1) (2]
'y f - 1]
X .
(3) 4 (4)
Ans. (1)
20. Two resistance By = [15+ 0:5]0 and Rz = (10 £ 0.5)02 are connecled in paraliel. The equivalent resistance
will be :
(1) [6+0.26]£) 2} [6 £ 0.52]0 {3} [6 £ 0.14]0 {4) [6 + 0752
Ans. (1)
SHE oot
R R "Hs
BN i S
R 15 10
R =60
AR [AR, AR, |
e | AR

AR = RY % |:= ~ +—— | = 36 [0.0022 + 0.005]
RS AR5 | 15¢  10% |

= 36 [0.0072] = D.2592 = 0.26 ©2
ResistanceisR+ AR =6+ 0.26

[AR: AR | 2[115 05
 —tr &



